
cg'';"rL -!)_ 

P]gsf] bkmf !@ ;Fu ;DaGwLt 

;]jf z'Ns b:t'/ 

cf=j= 2077.78 sf] nflu z'Ns tyf b:t'/x? b]xfo adf]lhd sfod ul/Psf] % .  

l;=g ljj/)f s/÷z'Ns÷b:t'/ s}lkmot 
 

1 l;kmfl/;     
 

1=1 
;xof]u hGo pkrf/ tyf ckfª\utf, czStf ;DaGwL  lgMz'Ns  

 

1=2 
of]hgf dfu l;kmfl/;  500.00 

;fd'bflos 

ljBfno tyf 

:jf:Yo ;+:yfsf] 

l;kmfl/; 

lgMz'Ns x'g]% 

. 

 

1=4 sfo{;DkGg l;kmfl/; ?=Ps nfv 

;Dd  
50.00 

 

1=5 sfo{;DkGg l;kmfl/; ?=Ps nfv 

eGbf a(Lsf] k|lt nfv ?= 
100.00 

 

1=6 
cGo k|s[ltsf l;kmfl/; 300.00 

 

2 gftf k|dfl)ft     
 s=g]kfnL 200.00    
 v=cu|]hL  600.00    

3 ^«fen *s"d]G^ l;kmfl/; 500.00    

4 hUuf gfd;f/L l;kmfl/; / >]itf sfod l;kmfl/;       

 1= kf+r s&\&f ;Dd  500.00   
 

  

 2= kf+r eGbf dfly 20 s&\&f;Dd k|lts&\&f  100.00   
 

 3= aL; eGbf dfly k|lts&\&f 110.00   
 

5 df]xL gfd;f/L tyf nut s§f  l;kmfl/; gfd;f/L nut s§f   

 1= kf+r s&\&f ;Dd  1000.00 2000.00  

 2= kf+r eGbf dfly 20 s&\&f;Dd k|lts&\&f  200.00 400.00  

 3= aL; eGbf dfly k|lts&\&f 250.00 500.00  

6 #/jf^f] l;kmfl/;  cGo  
 

 k'j{klZrd /fhdfu{sf] bfof jfof-2 lsQf ;Dd_ 1000.00 
yk k|ltlsQf 

100  

 leqL zfvf lkr af^f] bfof jfof-2 lsQf ;Dd_ 800.00 
yk k|ltlsQf 

100  

 leqL u|]jn af^f], uf]/]^f] jf^f] ;dy/M-2 lsQf ;Dd_ 600.00 
yk k|ltlsQf 

50  

 leqL sRrL jf^F]df kg v]ltof]Uo-2 lsQf ;Dd_ 500.00 
yk k|ltlsQf 

50  



 kxf*L If]q  400.00 
yk k|ltlsQf 

25  

7 #/ sfod l;kmfl/z         

 600 ju{lkm^ ;Dd 1000।००    

 1000 ju{lkm^ ;Dd 2000।००    

 ;f] eGbf j(L  2500।००    

8 rf/ lsNnf k|dfl)ft l;kmfl/;-2 lsQf ;Dd_ 600.00 
yk k|ltlsQf 

?= 100  

9 k]G;g sf*{ jf ;f] ;DaGwL cGo l;kmfl/;      

  
 g]kfnL  1000.00    
 ;fs{ d'n's  1500.00    
 cGo d'n's  3000.00    

10 ;+/IfsTj ;DaGwL l;kmfl/; lgz'Ns    

11 xsjfnf k|dfl)ft  1000.00   

12 ;+# ;+:yf btf{ ;DaGwL l;kmfl/; 1000.00    

13 lghL ljBfno btf{ / :t/ a[l$      
 

 lzz' ljsf; s]Gb|M 5000.00   
 

 cfwf/e'tljBfno 14000.00   
 

 dfWolds ljBfno 24000.00    

 :gfts tx / ;f] eGbf dflyM 50000.00   
 

14 ;fd'bflos ljBfno sIff yk  - :t/ cg';f/_      
 cfwf/e't ljBfno 1000.00    
 dfWolds ljBfno 2000.00   

 

 :gfts txdf ;+sfo yk k|lt ;+sfo  5000.00   
 

15 ?v s^fg l;kmfl/; cfjfbL lghL hUufdf       
 s= vo/, ;fn  1000.00 k|lt ?v   
 v= cGo sf& hGo 500.00 k|lt ?v   
 u= s"sf& 200.00 k|lt ?v   

16 c+u|]hL ?kfGt/ 500.00 k|lt *s'd]G^  

17 j+zhsf] gful/stf ;DaGwL l;kmfl/; kmf/fd ;lxt lgz'Ns    

 

 hGd l;$ gful/stf ;DaGwL l;kmfl/; kmf/fd ;lxt 1000.00  

 

18 a}jflxs c+lus[t gful/stf ;DaGwL l;kmfl/; 1200.00   
 

19 gfd %'^sf] l;kmfl/; 300.00    

20 s/r'Qmf k|df)F kq  200.00 
a}b]lzs k|of]hg 

? 500  

21 ;gfvt÷;h{dLg 300.00    



22 AolQmut #^gf l;kmfl/z  200.00   
 

23 lhljt k|dfl)ft 100.00     

24 cljjflxt÷ljjflxt k|dfl)ft     

 g]kfnL 300.00    
 c+u|]hL 500.00    

25 a;f]af; ;DaGwL l;kmfl/; 300.00    

26 gfd, y/, hGd ldlt ;+zf]wg l;kmfl/; 300.00   
 

27 

cldg z'Ns klxnf] 2 lsQf;Dd hf]l*Psf] xsdf? 2000.00 / yk k|lt lsQf 500.00 

cGoyf k|ltlsTtf ?= 2000.00 

   

28 ljB't ld^/ h*fg ÷gfd;f/L ;DaGwL l;kmfl/; :t/ cg';f/     
 

 1_ ;fdfGo ÷#/fo;L  300.00    
 2_ Joj;foLs 1000.00    
 3_ ly|km]h  2000.00    

29 ^]lnkmf]g h*fg ÷gfd;f/L ;DaGwL l;kmfl/; 500.00   
 

30 vfg]kfgL h*fg÷gfd;f/L   150.00      

31 gS;fkf; lstfj÷clen]lvs/)f lstfj ljqmL  400.00   

32 gS;fkf; ;+;f]wg  

z'? gS;f 

kf;sf] 25 

k|ltzt  

  

 

33 gS;fkf; Dofb yk 500.00    

34 gS;fkf; gfd;f/L 500.00    

35 rfl/lqs l;kmfl/; -ljBfyL{nfO{ 50 k|ltzt %'^ _  500.00   
 

36 Knl^é cg'dlt     
 

 5 s&\&f ;Dd k|lt s&\&f   5000.00   

s[lif of]Uo 

s'g}klg 

hUufdfKnl^ª 

ug{ lbOg] %}g 

.  

  

 
 15 s&\&f ;Dd k|lt s&\&f   7000.00 

 

 15 s&\&f eGbf a(L k|lt s&\&f   

10000.00  

37 
pBf]u btf{ l;kmfl/; b:t'/ - qm;/ pBf]u / O^\̂ f pBf]u 

afx]s _ 
    

 
 s[lif      
 &\nf]  3000.00    

 demf}nf  2500.00   
 

 ;fgf]  1000.00   
 

 u}/ s[lif       



 &\nf]  25000.00   
 

 demf}nf  10000.00    
 ;fgf]  3000.00    
 #/]n tyf k/Dk/fut 1500.00  

 

38 pBf]u btf{ z'Ns     

 s[lif     

 &\nf]  15000.00   

 demf}nf  10000.00   

 ;fgf]  4000.00   

 u}/ s[lif      

 &\nf]  50,000.00   

 demf}nf  20,000.00   

 ;fgf]  5,000.00   

39 
l;d]G^ pBf]u, qm;/ pBf]u,lrDgL O^\^f / O^\̂ f pBf]u    -

l;kmfl/; b:t'/_ 
  

 

 l;d]G^ pBf]u  250000.00   

 qm;/ pBf]u 50000.00   

 lrDgL O \̂̂ f pBf]u 40000.00   

 cGo O^^f pBf]u 5000.00   

40 
l;d]G^ pBf]u, qm;/ pBf]u,lrDgL O^\^f / O^\̂ f pBf]u     

-btf{ z"Ns_ 

k+"hLsf] cfwf/df ? 1 s/f]* 

;Dd sf] ?= 30 xhf/ / ;f] 

eGbf dflysf] k|lt nfvsf] ?= 

5 ;o yk x"b} hfg] 

  

41 Aofkf/, Joj;fo,k|fOe]̂  kmd{ btf{sf] l;kmfl/;    

 clws[t k'hL 5 nfv ;Ddsf] l;kmfl/z b:t'/  500.00   

 clws[t k'hL 5 nfv eGbf j(L sf] l;kmfl/z b:t'/  1000.00   

42 Aofkf/, Aoj;fo,k|fOe]^ kmd{ btf{ b:t'/      

42=1 clws[t k'hL 5 nfv ;Ddsf] 5,000.0   

42=2 
clws[t k'hL 20 nfv ;Ddsf]  8,000.00  

 

42=3 
clws[t k'hL 20 nfv b]lv 50 nfv ;Ddsf]  

10,000.00 

 
 

 

42=4 
clws[t k'hL 50 nfv eGbf j(L  15000.00   

 

42=5 &fp+;f/L, p$]Zo yk, k'hLa[l$ sf/f]jf/ jGb,gfd ;+;f]wg, 

p$]Zo ;+;f]wg, gfd;f/L b:t'/ - 5 nfv ;Dd k'hL ePdf _ 
1000.00   

 

42=6 &fp+;f/L, p$]Zo yk, k'hLa[l$ sf/f]jf/ jGb,gfd ;+;f]wg, 

p$]Zo ;+;f]wg, gfd;f/L b:t'/ - 5 nfv eGbf al( k'hL 

ePdf _ 

2000.00   

 

41 
%fqj[lQ÷pkrf/÷/fxt÷ckf~ \u÷cfly}s ;xfotf ;DaGwL 

l;kmfl/; 
lgMz'Ns   

 

42 dfyL pNn]v ul/Pjfx]ssf cGo l;kmfl/; 300.00    



43 lgj]bg b:t'/  10.00    

44 JolQmut #^gf btf{ -35 lbg s^]sf_  50.00    

45 klt kTgLsf] ;DaGw ljR%]b lgj]bg btf{ b:t'/ 2000.00   
 

46 ejg lgdf{)f b/vf:t kmf/fd 500.00    

47 k/LIff ;DaGwL b/vf:t kmf/fd z'Ns 50.00    

48 kl/Iff b:t'/ nf]s ;]jf cfof]un] tf]s] adf]lhd      

49 gSsn k|dfl)ft k|ltkfgf  5.00    

50 #/kfn'jf s's'/ btf{ / gjLs/)F b:t'/ 100.00    

51 e?jf aGb's gjLs/)f b:t'/      
 lhNnf e/ 1000.00    
 k|b]z e/  2000.00      
 /fHo e/ 3000.00    

52 #/ lgdf{)f gSzfsf] gSsn b:t"/ k|lt k]h      
 

 Ps tnf  15.00    
 ;f]eGbf dfly k|lt tNnf yk 5.00    

53 #/sf] sf]&f v'nfpg /f]xj/ j:g]  500.00      

54 ldnfkq b:t"/ k|lt kIf k|lt a}&s  100.00    

55 hghflt÷blnt k|dfl)ft,l;kmfl/z  500.00    

56 लिखत प्रमाणित दस्तरु  200.00   

cfly{s ;xfotf, bLg b'MvL x?sf] xsdf uf=kf= cWoIf jf k|d'v k|zf;sLo clws[tsf] tf]s cfb]z cg';f/ 

lgz'Ns ;]jf k|bfg ug{ ;lsg]  % . 
 

56 ;DktL d'Nof°g ;]jf z'Ns 
hDdf /sdsf]  

0=10 k|ltzt   

 -cWoogsf] k|of]hgsf] xsdf 

s'n /fhZjsf] 20 k|ltzt 

%'^   ul/g]% ._  

  
ufp+kflnsfn] tTsfn lwtf] d'Nof+sg u/]sf] l;kmfl/;sf] k'gM gjLs/)f ug'{kbf{ h'g k|of]hgsf 

nflu ul/Psf] xf] ;f]sf nflu nfUg] b:t'/sf] 20 k|ltzt /fhZj lnOg]% . 
 

57 cfo;|f]t k|dfl)ft  
hDdf /sdsf]  

0=25 k|ltzt   

 -cWoogsf] k|of]hgsf] 

xsdf s'n /fhZjsf] 20 

k|ltzt %'^   ul/g]% ._ 
 

 sfGhL xfp; b:t'/      

58 ufO{ uf]? k|lt uf]̂ f k|lt lbg 50.00    

59 e}+;L /fuf k|lt uf]^f k|lt lbg 50.00  

 

60 #f]*f vRr* k|lt uf]^f k|lt lbg 50.00 
  

   

61 ;'u'+/ a+u'/ k|lt uf]^f k|lt lbg 50.00 
  

   

62 afv|f e]+*f k|lt uf]^f             k|lt  lbg 50.00 
  

   

sfGhL xfp;df kz' /fVbf #f+;kfgL k/fnsf] vr{ ;DalGwt kz' wgLn] g} Joxf]g'{kg]{%  
 



sfGhL xfp;df kz' ;dftL y'Gg] sd{rf/LnfO{ 25 / cGo JolQmnfO{ 35 k|ltzt k'/:sf/ :j?k lbOg]% 

.  
 

sfGhL xfp;df y'g]sf] kz' ;f]xL lbg lng gcfPdf k|ltlbg 10 k|ltztsf b/n] yk hl/jfgf nfUg]% / 

sfGhLxfp;df y'g]sf] kz' d/]df uf=kf= hjfkmb]xL x'g] %}g .  
 

sfGhL xfp;df kz' ;dftL y'g]kl% ;f] kz'nfO{ x]/rfx ug]{ sd{rf/LnfO{ p&]sf] /sdsf] 15 k|ltzt yk 

;'ljwf lbOg]% .  
 

 

 

;/;kmfO{ z'Ns -dfl;s_ 

  

   

63 k|lt #/ -1 tnfsf]_  150.00    

64 ls/fgf, km]G;L, s:d]l^s, h:tf Joj;fo k|lt k;n 150.00   
 

65 
xf]^n,gfO{, xl:k^n tyf lSnlgs, t/sf/L k;n  cflb 

Joj;fox?sf] dfl;s k|lt k;n 
200.00   

 

66 Jofsxf] nf]*/ ef*f sfo{ ubf{ O{Gwg jfx]s k|lt #G^f 1200.00 

 ufpFkflnsfsf] 

cf}hf/ d]l;gx? 

sfo{kflnsfn] 

agfPsf] 

sfo{ljlw 

adf]lhd 

Jojl:yt 

ul/g]5 . 

  

 
67 

Jofsxf] nf]*/ ef*f O{Gwg ;lxtsf] k|lt #G^f 
2000.00 

68 Jofsxf] nf]*/ cft] hft] ;dosf] OGwg jfx]s  400.00 

 69 Jofsxf] nf]*/ cft] hft] ;dosf] OGwg ;lxt 700.00 

70 
/f]* /f]n/ sfo{ ubf{ O{Gwg jfx]s k|lt #G^f ? 2000 / 

Psk^s n}hfbf sDtLdf 12000. 
2000.00 

 

71 

kmd{ ;"rLs/)f b:t'/:    

क .स fgf Aoj;foL :^]zg/L ef*f k;n OTofbL ५००.00  

v .कृषि एग्रोभेट / भेटेनरी पसि  500.00  

u. dझौिा Aoj;foL cf}ifwL d];Lg/L pks/)f cfk'lt{ cflb 1000.00  

घ. &'nf Aoj;foL M k/fdz{bftf OlGhLlgo/Lª ;]jf k|bfos   5000.00  

७२ /f]* /f]n/ cft] hft] ;dosf] OGwg jfx]s 500.00  

७३ /f]* /f]n/ sfo{ ubf{ O{Gwg ;lxt 2300.00  

७४ /f]* /f]n/ cft] hft] ;dosf] OGwg jfx]s 1000.00  

7५ \̂ofS^/ k|lt 8 #)^f OGwg jfx]s  3000.00  
 
   

 
#/gS;f kf; tyf clen]lvs/)f ;DaGwL b:t'/ 

 
 
 

 

 ef}lts ;+/rgfsf] ljj/)f 

s/sf] b/ -k|lt j=kmL=_ g]=?=df  
gS;fkf; If]q  

s v u  
1= cf/= ;L= ;L= k|m]d :^|\Sr/        
s_ k")f{ e'ldut tnf 2.50 2.00 1.00  



v_ cw{ e'ldut tnf 3.50 3.00 2.00  
u_ hldg tnf 4.00 3.50 3.00  
#_ klxnf] tnf  4.50 4.00 3.00  
ª_ bf]>f] tnf 5.00 4.00 3.00  
r_ t]>f] tnf 5.00 4.00 3.00  
%_ rf}yf] tnf 6.00 5.00 4.00  
h_ kfrf} tNnf jf ;f] eGbf dfly  10.00 8.00 6.00  

2 
l;d]G^sf] hf]*fO{df O^f jf (+'ufsf] uf/f] -Go'gtd 23 ;]=dL= 

df]^fO{_  ^fon %fgf  
2.50 2.00 1.50 

 

3= 
l;d]G^sf] hf]*fO{df O^f jf ('+ufsf] uf/f] -Go'gtd 23 ;]=dL= 

df]^fO{_, h:tfkftf%fgf  
2.25 1.75 1.50 

 

4= l;d]G^sf] hf]*fO{df O^f jf ('+ufsf] uf/f] km';sf] %fgf   2.50 1.50 1.00 
 

5 df^f]]sf] hf]*fO{df O^f jf ('+ufsf] uf/f] ^fonsf] %fgf   2.00 1.75 1.00 
 

6 df^f]]sf] hf]*fO{df O^f jf ('+ufsf] uf/f] h:tfsf] %fgf   1.50 1.25 1.00 
 

7 df^f]]sf] hf]*fO{df O^f jf ('+ufsf] uf/f] km';sf] %fgf   1.25 1.00 0.75 
 

8 #/ kftfn k|dfl)Ft   ? 1000.00        
9 #/ kftfn cw{kSsL Psd"i^   
10 #/ kftfn k')f{ sRrL Psd"i^   

jlu{s/)fsf cfwf/ 

 

If]q s  

 k"j{ klZrd /fhdfu{ tyf Ko"&fg ;*ssf] dWo ljGb'jf^ 300 ld^/ bfofjfof kg{] ;j} If]qx?, 

efn'jf~ k'/fgf] jhf/ If]q, k"nrf]s If]q,sfnf]kq] ul/Psf leqL ;*sdf kg{] ;j} If]qx?  

If]q v  

dfyL If]q s pNn]lvt If]q / j*f g+= 9sf] ;+k")f= If]qx? ,j*f g+= 1 sf] juf;f]tL vs{ 

nufotsf]  kxf*L If]qx?, j*f g+= 2sf] :ofgL#f]if ,jfx'gLkf^f nufotsf] kxf*L If]q,j*f g+= 5 

sf] s/~] , k'g vf]nf bx v]nf #f]Kn] cfFk, ys/Lsf]^ e'Ns] nufotsf] kxf*L If]q / /fKtL gbL 

,;fgf] gbL / bf]n} vf]nf s^fgn] ju/df kl/)ft ePsf] If]q jfx]ssf] If]qx?  

If]q u  

j*f g+= 9sf] ;+k")f= If]qx? ,j*f g+= 1 sf] juf;f]tL vs{ nufotsf] kxf*L If]qx?, j*f g+=2 

sf] :ofgL#f]if ,jfx'gLkf^f nufotsf] kxf*L If]q,j*f g+= 5 sf] s/~] , k'g vf]nf bx v]fnf 

#f]Kn] cfFk, ys/Lsf]^ e'Ns] nufotsf] kxf*L If]q / /fKtL gbL ,;fgf] gbL / bf]n} vf]nf 

s^fgn] ju/df kl/)ft ePsf] If]q  

 o;df pNn]v gePsf ljifodf k'+hL / k|s[ltsf cfwf/df  cWoIf :t/sf] lg)f{oaf^ tf]lsPsf] b//]^nfO{ 

sfod u/L c;'n pk/ ul/g]% .  

 

 

 


